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Fourth Semester B.E. Degree Examination, January/February 2006
BM/EC/EE/TE/MLAIT '
Microprocessors
Tirma: 3 hrs.) (o Marks : 100

Note: Answer any FIVE full questions.

1. tay Which are the micrcprocessor inifiated operations? With o block diogrom, explain
the 8085 bus organization. (8 Marks)

(B Explain the cperation of the folowing pins of BOSS
NDREADY mSland50 i) IO/AM iy ALE (& Marks)

(e} Assurme that the GO 2000 EXEC command is given in g 8085 microprocessor frainer
kit. List the activities that take plccs in the sequanca of their happeanings.

{4 Marks)
2. (@) What do you mean by addressing modes of data? Explain the four important such
rmades of 8085 with an axarmpla for each one of them, (® Marks)

(b} Following program has been written fo pick the largest out of six 8 bif numbers
stared in the memory starting with the address 1020H contalning 20H, 1AH, 23H.
40H. 48H and 22H in the same order, Indicate the contents of the reglsters HL .,
A, M and stotus of CY flag ot the end of the execution of the program. (¢ Marks)

LI H, 1020H :
MW C.05H z
MON A M
NX  H
LOCP : CTMP M
JNC MEXT
MOV AM
MEXT: DCR C
JHNC LOOP
HLT

() If 0 BOES microprocessor syshemi s fo have one 2K ROM and one 28 RAM chip, winct
should be the staring addresses of these chips? £2 Marks)

J. (@) Write an ALP fo find the average of six, B bit numbers stored from memory location
XAA0H. Stora the averoge valve affer the last numter in the memory. (10 Marks)

fb} i3 What are the uses of subroutines?

My Inificlly if SP=2000H, BC=1234H, HL=5478H, skatch the stack memaory comtents
after the exacution of the folowing program segment indicating the 5P valus

FUEHH
POP D
PUSH B (6 Marks)
(e} Calculote the time required to execute the fallowing progrom segment with o 8085
CPL connacted with a crystal of 2 MHz. (4 Marks)
W O, Qi

BACK: DCRD
JNZ BACK
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4. (o) Sketch and biefry explain fhe timing diagrom of the instruction ADD M. (@ Marks)

{B} Write an ALP to sfore the status of the fiags 5.2.AC, P and CY o3 OOH(FFH) If thay
are reset (se1) i five memory locations starfing with the address 1020H. (10 Marks)

(e} i} Which BOAS arthmetic instruction doas nat affect zera fag?
i Whet i the value af 5P Ugan reset of 80557 (2 Marks)

3. (@) Interfoce 2KxE bif RO starting with address 0000H and 4K « 8 bit RAM starfing
with addrass 1000H using 2718 ond 6114 chips respactively, to 8085, Indicate the
addrass map and use absslute dacoding with fhe help of 74138, Show Clachy cil
the confrl signaols. (10 Marka)

(b} Inferface 8 dip switches and 8 reloys o 8085 in memory mapped /O with addrasses
FFFEBH arwi FFFOH, respactivaly. Use 7405244 and 7415373 chigs, Wiite a program ta
switch ONJOFF reloys depending on the status of the switches whether they are
CMFOFF, 08 Marks)

{ed If a subrouting & entered using o CALL instruction and retumed to maln program
from subroufine By g Jump instuction Instead of o RET instruction, what is the
disodvantages? : {2 Marks)

8. (a) Explain the SIM and RIM Instrustions of 8085, (& Marks)

b} Exploim the sequence of cperations that fakes Frace whan the infemugt on INIR pin
of 8035 i active. (4 Marks)

(c} Dasign a 1-minute timer using o &0 Hz power e as an inferupting source for A0S,
The two output ports PORT 1 and PORT 2. respectivaly should display minutes ond

seCongds, (10 Maorks) B
7. (o) Explain the Intarmal schematic of 8255 chip and i operating modes Brisfly.,
{10 Marks)
(B Interface a &255 to 8065 and write an ALP 1o generche o rectangular woveform
with | msec ON time and 2 msecs OFF time: (T O Mhaarks)
8. Write shorts note an
(o) Demultiplexing schame of addr/data bus of 8085,
(b) 8253 timer
()} 8279 kevboard/display contrallar
(d) DFA corversion wilh BO3S, {5x £=20 Marks)
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